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ROFRITEmMEMTEHELIL &£ 9,

(1) Ikg 4699
(2) Ikg 99
(3) 244
(4) 1849
(5) 4g
(1) Im 79cm
(2) lcm
(3)  13cm
(4)  90cm
(5)  98cm
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(6) 4809 = K9
(7) kg 3279 = kg
(8) 6kg 6479 = K9
(9) 6kg 4929 = K9
(10) Ikg 203g = kg
(6) 12cm = m
(7) 3m 68cm = m
(8) Im 79cm = m
(@) |lm 78cm = m
(10) 2m 63cm = m
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RDEIZkgBEATERLIL LD,

(1) lkg 4699 = |.469 kg (6) 4809 = 0.48 kg
(2) |kg 99 = 1.009 kg (7) Ikg 3279 = 1.327 kg
(3) 249 = 0.024 kg (8) 6kg 6479 = 6.647 kg
(4) 18g = 0.184 kg (9) 6kg 4929 = 6.492 kg
(5) hg = 0.004 kg (10) kg 203g = 1.203 kg
RODEIZmBEMATERLEL LD,

(1) Im79cm = 1.79 m 6) 12cm = 0.12 m
(2) lem = 0.0 m (7 3m 68cm = 3.68 m
3 13cm = 0.13 m (8 Im 79cm = .79 m
4) 90cm = 0.9 m (@ I'lm 78cm = [1.78 m
5) 98cm = 0.98 m (10) 2m 63cm = 2.63 m
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